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o b
o $1.,000.56,
) ’ )
’ )
s N s o
“ ”
b 9 N b
“
b o
”
) . )
b b ., .,
o b b b o
o b b
o b b b
N A ’ . N A
o N N .
s o o
“ @ “ ”
$ Y o 9 ~ 2
“w @ “ ”
$ Y , .
“ ” “ ” “ ” “
o $ Y A b
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b o o
b N
b b b b b b
“ ” “ ” “ ”
OO 9 ] ’ O ’
“ ”
o o
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N s o
o 9
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o o b Y
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b 9 o
o s
“ ”
O . b o
“ g
7, $101.50, ) )
o
“ ” “ ”
O ’ 9 o
$1.004. 56, s
“ ”
o O b
“ ” “ ” “ ”
07, 07, 0 s o
“ ” “ ”
b b

1,320. 56,
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erating Cycle),

“@

”(Op-

’

(D
2
3
€Y
(6D
(6)

(D

2

3

(€Y

(5)

(6)

’

(Cash on Hand)
(Cash Equivalent)



542 (
7) s , s
(8) ’ 1-
’ (1)
(2 N
(
1) N . (3) .
H . 2.
(2) s s s
C 1INORWAY
(
1/1 50 @15 750. 00
6/1 100 @18 1,800. 00
12/1 30 @19 570. 00
12/31 55 3,120. 00
12/1 30 19. 00 570. 00
6/1 25 18. 00 450. 00
55 1,020. 00
, $1,020.00
3.
— $2,100. 00
$2,100. 00 . .

$1,020. 00
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1/1 50 15. 00 750. 00
6/1 5 18. 00 90. 00
840. 00
4.
— $2,280. 00
—_— $2,280. 00 s
— $ 840. 00
1/1 50 15. 00 750. 00
6/1 100 18. 00 1,800. 00
12/1 30 19. 00 570. 00
180 3,120. 00

3120
=Tg0 =17-33

17.33X55=1953.15

$2,166. 85
$2,166.85
$953.15
$953. 15

$ 840. 00



544 (
C 2INORWAY
1/1 | 50 60 3,000 1/1 | 50| 60 3,000
2/10 | 200 | 70 | 14,000 2/10 [250] 68 | 17,000
5/2 | 175 | 68 | 11,900 | 5/2 | 75| 68 5,100
7/5 | 300 | 75 | 22,500 7/5 |375|73.60| 27,600
9/7 | 300 |73.60| 22,080 | 8/7 | 75 |73.60| 5,520
12/8 | 500 | 80 | 40,500 12/31(575|79. 16/ 45,520
— 575 $ 34, 780 ¢
— $ 34, 780 .
— 475 $45, 520 ,
— $ 45, 520 ; ,
6.
) ()
, 1.
. C 1] .
(15+18+19) +3=17.33 . ) )
: 17.33X55=0953.15 ) ,
125 C 3] NORWAY ,
2, 166.25 $ 2, 400.00, :
—_— $2, 166.2:_> %2, 400.00
5 3’953'1? . $2, 400.00
$953.15 ¢ 43 NORWAY
’ , $2, 400.00,
’ $ 2. 400.00
‘ : $ 2, 400.00
. C 5] NORWAY
, $ 2, 400.00,
' ' (D) $ 2, 400.00
) $2, 400.00
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C
600. 00

C

C
200. 00,
$ 800. 00,
$ 200. 00,
(D

D)

o

6] NORWAY

$ 37
$3, 600.00
: $ 3, 600.00
73 NORWAY .
$ 3, 600. 00,
$ 3, 800.00
$ 3, 600.00
200. 00
( ) .
81 NORWAY $ 14,
— X X $15, 000.00
$ 14, 200.00
800. 00
X X $ 200. 00
$ 200. 00
93 NORWAY $ 3, 750. 00

C

)

$3, 750.00

: $3, 750.00
C 10 NORWAY $ 800, 00,
$ 800. 00
$ 800. 00

C 11JNORWAY R
$ 6, 000.00 .
’ 8% o

6%

$6,000. 00

($6,000. ooxixi>:

100712 $30.00

$6,030. 00

(($6,000.00X (1+i><i
100712

$6,090. 00

)=

. 8 2
($6,090. OOX]OOXE

$6,008. 80
$21. 20

)=281. 20

$30. 00
$ 30. 00
$6,008. 80
$21. 20
$6,000. 00
$30. 00

80% s

: 6, 090.00 (
) =%1, 218.00

) X20% (

$ 4. 790. 80
$1, 218.00
$21.20
$6, 000.00
$ 30. 00



546 (
$ X X X
$1, 218.00 ( ) $ X X X
( ) $ 100, 000.00
$ 6., 000.00 (Accrued Receivable),
$ 94, 000.00 o
4.
) . S
s ( s
) , : .
$ X X 1.
$ X X 1)
s o 2.
(2) . [@D) . s
b o $ 67 ® o
000. 00, $ 200. 00
NORWAY s : s :
$ 6, 000.00 A (Aging Method) ;
$ 6, 000.00
— X X $ 6, 290.00 s o
$6, 290.00 s ,
. : ivabl :
(Accounts Receivable) c 123 NORWAY
s $ 24, 800.00,
NORWAY
30 30 60 90
~60 ~90
$ 1, 000.00 $500. 00 $800. 00 $ 400. 00
$ 4, 000.00 $7, 000.0 $1, 000.00 2, 000. 00
$ 5, 000.00 $2, 500.0 $ 600. 00)
$ 10, 000.00 $9, 500.0 $1, 500.00 $ 3, 400.00 $ 400. 00
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30
30~60
60~90
90

30
30~60
60~90
90

1% @
2%
4% A.
20%

$9, 500X1%=$95.00
$1, 500xX2%=$30.00
$3, 400X4% = $136.00
$ 400X 20% = $ 80. 00

$ 341. 00

’

B. B.
a.
a.
C 1307 NORWAY
$ 23, 800.00, $8, 700
5%, :
($23, 800— $8, 700.00) X5%=%755.00
b. b.
( ’
)7
) ) ° C.

$ X X X
$ X X X

$ X XX
$ X XX

$ X XX
$ X X X

$ X XX
$ X XX



548 )

$ X X X 000. 00, 5%,
$ X X X $ 360, 000.00X5%=$18, 000.00
$ 20, 000.00— $18, 700.00=$1, 300.00
R . $ 18, 700.00,
s : $ 18, 700.00
, : $ 18, 700.00
A. : : $ 1, 300.00
$1, 300.00
: : $ 18, 000.00
C 1413 NORWAY , : $ 18, 000.00
$20,000. 00, s
$ 18, 700.00, $ 360,
$18,700. 00 $ 20,000. 00
$1,300. 00 $18,000. 00
B. . :
, , : $16, 700.00
, , : $ 16, 700.00
, $ 18, 000. 00,
. “ ” $ 16, 700. 00,
. $ 1, 300.00, $ 1, 300.00,
, NORWAY $ 18, 000.00, s
$19
300. 00, $ 16, 700. 00,
$18,700. 00 $ 20,000. 00
16,700. 00
$ 18,000. 00, R ,
$ 360, 000.00 5%, ,
(2) . s s



549

NORWAY 89

C 157
000. 00 , 10%
60% »

$ 60, 000.00X10% = $ 6, 000. 00

$6,000. 00X 60%=$3,600.00

$6,
$6,
$3.

90 .
$6,
$6.
$3.
$3.
89 .

$67
69
$ 54,

(Short—Term Investment)

(Temporary Investment)

000.
000.
600.
600.

000.
000.
600.
600.

000.
000.
000.

$ 60,

00
00
00
00

00
00
00
00

00
00
00

C 16  NORWAY 89 7 1

68 YL 6
100 100 o

200 :

68. 00X 100 = $6, 800.00

200. 00

$ 7, 000.00

X 6% X o —

12
$ 300. 00

$6, 700.00

$100. 00X 100

89/7/1

$ 6, 700.00
300. 00

: $ 7, 000.00

89/12/31 , $100. 00X 100

X6%=$600.00

$ 600. 00
$ 300. 00
300. 00
$300.00, 89 1 1
6 31 , NORWAY
, s NORWAY
2.
(@D o
C 17] NORWAY YL
500 $ 100, $ 50, 000.00,
$ 101 $50,500.00( Do
s s 875,

$ 50, 437. 50, s



550 (

. $1, 000.00
: $ 204, 000.00
;11 1

YL 5% —
( $ 50, 437.50) $50, 500. 00 3
2 ) $3, 000.00 C $200, OOO.OO><6%><E)
) o $ 201, 000.00
. : $ 201, 000.00
: $ 3, 000.00
C 183 NORWAY . $ 204, 000.00
100, $ 62. 00, ,
$ 66. 00, : $ 200, 000. 00,
$ 400. 00 “ » .
$ 400. 00 :
$ 64. 00 , : $ 1, 000.00
: $ 1, 000.00
$6, 400.00 1988 2 1 200, 500, 00
400. 00 , “
$6, 200.00 ” , . .1
400. 00 1 2 1 $ 3, 000. 00
200. 00 NORWAY .
3 .
$ 200, 500. 00
) 1, 000.00
o ) 2, 500. 00
. ; : $ 3, 000.00
, , 201, 000. 00
C 20 NORWAY 1988 3 1
$ X X 8% , 100
$ X X 301 . YL 5 1
: 104 100
C 190 NORWAY 1987 2 1 200 102
6% 2000 4 1 ,YL 110
100 1 1 $ 12, 000,
$1, 000.00,

1988/3/1 YL
$104.00X100 $10, 400.00
$ 203, 000.00 : 200. 00
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$10, 600.

$ 10, 000. ooxg%x%

133.
$10, 466.

1988/12/31

$ 10, 000. OO><8%><1—82: $533.33

. $10, 466.67— $ 102

X100= § 266. 67
1989/4/1
$1o,oo&ooxg96xi%::$6&67

1988/3/1

1988/12/31 5/1

$ 266.
$ 266.

1989/3/1

$ 800.
$ 666.
$133.

1988/4/1

$11, 000.
266.
$10. 466.
66.

00

33
67

.67
.33
.00

.33
.33

67
67

00
66
34

00
67
00
67

)

o

(Original Cost of Assets), (Estimat-
ed Service Life) . (Scrap) (Arbitrary
Interest Rate)
(G
1. (Straight Line Method)
= — «C D
3
= X 100%
( 2)
] J—
= X 100%
( 3)
= B ( 4)
= X



552 Q)
> o 4. (Fixed Percentage on Declining
2. (Working Hour Method) Balance Method)
= — X
= X ( 8)
( 6) )
: R , n
’ \% .V, n
3. (Unit Production Method) "R
R=1— v ( 9
— — X C 227 NORWAY
$125, 000.00 , $38,
500. 00, $ 500. 00, 3
( 7)
‘ «C 9
C 213 NORWAY s
3@ =
s $8, 500.00— $500.00
65, 000. 00, 5, 000. 00 =1— =609
$60 1o R=1 $125. 00.00 60%
s $ 5, 000.00, s
$5 2 60% .
500.00
( 8) ’ h g C
I . $125, 000.00X60% = $75, 000.00
g 5 I : ($125,000. 00— $ 75,000. 00) X60%
~ $65, 000.00— $5, 000.00 -
= 15, 000. 00 X2, 500.00 = $30, 000.00
I . ($125,000.00— $75,000. 00— $ 30,
o @
—$10, 000.00 000.00) X60%=$12, 000.00
0 $ 125, 000.00
1 75, 000. 00 75, 000.00 $ 50, 000.00
2 30, 000.00 105, 000. 00 $ 20, 000.00
3 12, 000. 00 117, 000.00 8, 000.00
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B 0 :( - )><
’ ’ ( 11)
¢ ) .
N b V ’S ’t
1.5 N ;
B 2(N—t+1)
1 si00% ¢ 10 = V=X NFD « 12
¢ 237 NORWAY
5. $20,000. 00, $ 2,000. 00,
5,
1 $20,000. 00
1 $18,000. 00 5/15 $ 6,000. 00 $ 6,000. 00 14,000. 00
2 18.000. 00 4/15 4,800. 00 10.800. 00 9.,200. 00
3 18.,000. 00 3/15 3.,600. 00 14.400. 00 5.,600. 00
4 18.000. 00 2/15 2.,400. 00 16.800. 00 3,200. 00
5 18.000. 00 1/15 1.200. 00 18.000. 00 2,000. 00
15 | « ) $ 18.000. 00
6. (Sinking Fund Method) R
e 1 (147
, ] A=V=S Yoo ¢ W
A=(V—8) 1 C 1
aro"—1 ¢
A WV .S ,
i N . .
7. (Annuity Method) o



554 C
C 24)  NORWAY ,
$10,000. 00, $2,000. 00, 20 . . ,
[@D) o
=($10,000.00— $2,000.00) =20
= $400. 00 .
$ 400. 00 C 26 NORWAY
— $ 400. 00 $ 32, 000. 00, 8
s , $ 2, 000.00, s $3,
. 750. 00, $ 15, 000. 00,
$ 400. 00 6
$ 400. 00 $ 1, 100. 00, .
. , $ 32, 000.0
. , 1, 100. 00
$ 30, 900.00
$10, 000.00 ( ) 15, 000. 00
$ 15, 900.00
400. 00 $9, 600.00 - 6
¢ 5,6, 7,8,9, 10 )
, , $2, 650.00
C 25) NORWAY .
$ 100, 000.00, 10, 000. 00, 9 ( )
s BWO “ s
. ¥ 20 (
= ($100, 000.00— $10, 000.00 ) c ,
1 0.05 (140.05)" ;
X
<1+o.05>4) . (140.05)*—1 .
=$25, 881.10 (2) .
, $5,000. 00, \
$ 20, 881.10, : ,
— $ 25, 881.10 .
$5, 000.00 ;
20. 881. 10 C 27) NORWAY
2. $100,000. 00, 0, $ 10,

000. 00, s
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16 $ 20, 000.00, ,
. . . $12, 000. 00,
($100,000.00— $ 20, 000.00) =16 =$5, : — $ 12, 000.00
000. 00 : $ 12, 000.00
( $9,000.00) — ( $5, :
000. 00) : $ 5, 000.00
= $ 4, 000.00 : — $5, 000.00
$4,000. 00X 3= $12,000. 00+=++++ “ ”
12, 000.00 9, 000.00
9, 000.00
9, 000.00
$27,000. 00, .
, $ 27, 000. 00— $ 12, 000. 00= s
$ 15, 000. 00, ,
$ 5., 000.00, “o s : o
” , $9, 000.00, 2.
$5, 000.00, . :
(@D .
(G s o
[@D)] ; :
2 ) C 287 NORWAY .
o ' YL . NORWAY
$ 40, 000. 00, $ 300, 000. 00,
’ 10% .,
’ a. YL
h h ° = $ 40, 000.00X4= $160, 000.00
) (Good Will) b. YL s
1. '

= $300, 000.00 X 10%= %30,



556 C
000. 00 )
= $40, 000.00— $30, 000.00=
$ 10, 000.00
= $10, 000.00X6=$60, 000.00 a.
c. YL s o
$ 30, 000.00 , b. N
. $ 10, 000. 00 $ 8, 000. 00 .
, , $20,000. 00, c. .
. .’ d-
$30, 000.00 X 54 $8, 000.00X 2+ $2, _ ( 15
000. 00X 1= $168, 000.00
d. YL , e
$ 10, 000.00 , $6, 000.00 =
. . $ 4. 000. 00 - ( 16)
$ 6, 000.00X10+ $4, 000.00X4=$ 76, 000.00 ( 1D
( 18)
(2)
C 297 NORWAY 1988
$ 45, 000. 00 $ 15, 000.00
75, 000. 00 45, 000. 00
15, 000. 00 60, 000.00
15, 000.00
$ 135, 000.00 $ 135, 000.00
NORWAY . = $45, 000.00— $1, 800.00
, YL , NORWAY = $43, 200.00
: =$7, 5000.00+ $ 2, 200.00
1986 $6, 700.00 =$77. 200.00
1987 7, 500.00 $ 120, 400.00
1988 7, 400.00
$ 1, 800.00, _$7, 200.00
$ 2, 200. 00, 9%
$ 6, 000. 00, $ 9, 000.00, = $80, 000.00
9%, .
= $120, 400.00— $ 60, 000.00
= ($6, 700.00 + $7, 500.00 + $7, = $60, 400.00
400.00) =3 = $80, 000.00— %60,
=$7, 200.00 400. 00
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=$19, 600.00 )
N =$19, 600.00— $ 6, 000.00 .
=$13, 600.00 “ ”
3. . ;
: 1.
C 30] NORWAY
$150,000. 00, $50,000. 00, NOR- , ,
WAY . ,
$ 120, 000.00 . : . ,
$ 120, 000.00 — ( $ 150, 000.00 — $ 50,
000. 00) ,
= $20,000. 00 .
) (Patent) {32 NORWAY
. YL . )
. $12,000. 00, $ 4,000. 00,
. $ 1,000. 00,
, , . . NORWAY YL
, NORWAY :
. [CDI $12.000. 00
: : $12,000. 00
C 313  NORWAY ( )
) ) 2 $4,000. 00
17 13 : $ 4,000. 00
5 5 s ( )
$ 20,000. 00, $4,000. 00, 3 $1.,000. 00
$1.000.00
$20,000. 00 ( )
$20.,000. 00 YL :
— $12.000. 00
$4,000. 00 : $12,000. 00
— $4,000. 00 ,

(G (Leaseholds) “



558 (
2. 6%, YL
, .1 ;
) , ($104,247.26— $20,000.00) * 6%
=$5,054. 84
, . , I :
. $20,000. 000— $ 5,054. 84
: = $14,945.16
C 33INORWAY I .
$104. 247. 26 YL . $104,247. 26— $ 14,945. 16
6 $ 20, 000. 00, = $89,302. 10
( )
0 $104,247. 26
1 $20,000. 00 $5,054. 84 $14,945. 16 89,302. 10
2 20,000. 00 4,158.13 15.841. 87 73,460. 23
3 20,000. 00 3,207. 62 16.792. 38 56.667. 85
4 20,000. 00 2,200. 07 17.799. 93 38.867.92
5 20,000. 00 1,132.08 18.867.92 —
6 20,000. 00 — 20,000. 00
120,000. 00 15,752. 74 104,247. 26
$ 20, 000. 00 . , o 1/1:
$ 20, 000.00 $ 20, 000.00
; : $ 20, 000.00
, , 12/31:
, NORWAY $3, 207.62
YL . $ 3, 207.62
NORWAY N 1/1:
I 1/1: $ 20, 000.00
$ 84, 247.26 : $ 20, 000.00
20, 000.00 12/31:

: $ 104, 247.26 $ 2, 200.07
12/31: : $ 2, 200.07
$5, 054.84 voo1/1:

: $5. 054.84 $ 20, 000.00
r 1/1: : $20, 000.00
$ 20, 000.00 12/31:

: $ 20, 000.00 $1, 132.08
12/31; $1, 132.08
$4, 158.13 voo1/1:

$4, 158.13 $20, 000.00
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YL

12/31

1/1:

1/1:

12/31:

1/1:

12/31:

1/1:

12/31:

1/1:

12/31:

1/1:

$ 20, 000.00

$ 104, 247.26
$ 20, 000.00
84, 247.26

$5, 504. 84
$5, 504. 84

$ 20, 000.00
$ 20, 000.00

$4, 158.13
$4, 158.13

$ 20, 000.00
$ 20, 000.00

$3, 207.62
$3, 207.62

$ 20, 000.00
$ 20, 000.00

$2, 200.07
$2, 200.07

$ 20, 000.00
$ 20, 000.00

$1, 132.08
$1, 132.08

$ 20, 000.00
$ 20, 000.00

C

12

(D

1987

1988

1987
$ 30

1987

N

341 NORWAY 1987
$120. 00,
. 10

10/17

12/31

12/31 >

1987/12/31

$ 30

1987/10/17

$120

1987/12/31

$ 30

10

o

$120
$120

$ 90
$ 90

$ 30
$ 30

17



560 (

$ 30 : $ 120
, : 1987  12/31 )
$ 30 $ 90,
$ 30 : $ 90
$ 90, : $ 90
. 1988  12/31
(2 ) o
. : $ 90
. : $ 90
1987  10/17 : 1987 12 )
$120
1987/9/1 $120 | 1987/12/31 $ 90
1987/12/31 $ 90
2. N ;
. C 36 NORWAY
. $1. 800, ,
C 35JNORWAY 10 12 :
$100, 10 : $ 7, 800.00
; : $ 7, 800.00
$ 75, 10 $ 25, $1, 560
10 . 10 31 , : $1, 560
. : $1, 560
10/31 : — $ 25 :
—10 : $1. 560
$25 : $1. 560
, 10 $ 6,240,
) $75,
. 10
$ 25, $25; A
$ 25, , . .
$ 25, ) R
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o QD)
. : —YL $ 20, 000
) : $ 20, 000
YL
, (2)
. : $1, 000
$1, 000
C 37) $ 900, 000, 3 :
150 , : $1, 000
$0.6, $ 150, 000 (= : $1. 000
0. 60250, 000), : 2.
150, 000
150, 000
, 20% L50% ,
. $ 750, 000, ; .
C 397 NORWAY $ 40, 000
. , YL 40% L YL
. $30, 000, NORWAY 40%
) ) . $ 12, 000 . YL
$10, 000, NORWAY
¢ $4, 000,
(@D)
. : —YL $40, 000
1. : $ 40, 000
YL 40% .,
(2> YL .
20% , : —YL $12, 000
) : $12, 000
. YL $30, 000 40%
o s 3 :
. : $4, 000
: : —YL $4, 000
C 38)  NORWAY YL YL
$ 20, 000, 20% ., YL .
$ 30, 000, $5, (5] :
000, NORWAY $1, 000, : $12, 000

$12, 000
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$ 48, 000, , . .
$12, 000, .
3. :
C 40JNORWAY YL
50% s 50% s
( ) o
C )
NORWAY
1988 12 31
$ 100, 000 $50, 000
——YL 100, 000 500, 000
500, 000 $ 150, 000
$ 700, 000 700, 000
YL
1988 12 31
$ 40, 000 $ 20, 000
100, 000 100, 000
20, 000
$ 140, 000 $ 140, 000
NORWAY—YL
1988 12 31
$ 140, 000 $ 70, 000
600, 000 500, 000
170, 000
$ 740, 000 $ 740, 000
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1.
C 413 NORWAY 1987 1 1
YL 6%
$ 100, 000, $ 105, 000, 7 1

11 .
$ 5,000, .
10 . $ 500,
$ 3, 000, $ 500
. $2., 500 .
(1) 1987 1 1
$ 105, 000
$ 105, 000
105 100 YL 6%
1992 1 1 .
27 1
$3, 000
$3, 000
$3, 000 $5, 000 1/10,
$ 500
$ 500
5, 000 1/10,
(3 12 31
$3, 000
$3, 000
$ 500
$ 500
$5, 000 1/10,

4) 12 31 :
$5. 000
$5, 000
12 31 $ 3, 000,
) 1 1
. $ 104,000 ,
$105, 000 $1,
000 .
$ 100, 000,
2.
C 423 NORWAY 1987 YL
$ 100, 000, $ 98, 000,
$ 2,000, .
$ 200, NORWAY
6% $3, 000
) , $ 200,
(1) 1987 1 1
$ 98, 000
$98, 000
98 100 YL 6% o
1992 1 1 .
@ 7 1
$3, 000
$3, 000
$2, 000 1/10,
$ 200
: $ 200
(3 12 31
$3, 000
$3, 000
$ 200
$ 200
$2, 000 1/10,
(4> 12 31
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$6, 400
$6, 400
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’

C
NORWAY
876. 10,

1J NORWAY

$ 4,384,

$4,397,559.35 — $ 4,384, 876.10 = $12,

683. 25

$

1, 000, 000
200, 000
400, 000

167, 683.25
245, 000

$12, 683.25

270,
38,
550,
43,
345,
296,
691,
243,
359,
324,
569,
663,
$4, 397,

906.
142.
954.
517.
863.
459.
554.
266.
569.
299.
189.
837.
059.

$4, 397, 559.35
200, 000. 00

37

400, 000.00
167, 683.25
245, 000.00
384, 876.10



566 (G
1, 000, 000.00 . )
4, 384, 876.00 .
2. .
@D) , C 3J NORWAY
, YL . $ 30, 000,
NORWAY .
(2
(3 . . ( ) $ 30, 000
) $ 30, 000
. . $ 30, 000
. ( ) $ 30, 000
€D $ 30, 000.00
$ 30, 000.00
. . $1, 000
(5 $1, 000
, ( ) $1., 000
$ 180, :
; s $ 180
$ 180
3.
$ 180
. , $180
. 5.
C 2J NORWAY $ 100 . \
30 YL
$ 3. 000 . )
$ 3, 000
$ 3, 000 .
$ 3. 000 :
C 4) NORWAY YL
$3, 000 . $10, 000, 1, 000, $9,
$3, 000 000,
4. $9, 000.00
1, 000.00
) $10, 000.00
$10, 000.00

$ 10, 000.00
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$10, 000.00
$500(
5/30):
$9, 500.00
500. 00
$10, 000.00
6.
€))
( )
C 5]  NORWAY 1988 9
$50, 000,
$ 8, 000, )
$1, 200, $ 40, 000,
$ 48, 000,
$ 50, 000,
$ 40, 000, $10, 000,
@® ,
$11, 600
$ 14, 400
$14, 400
$9, 600
®
A. . :
$8, 000
— 42, 000
— $50, 000
B.
— $50, 000
— $ 40, 000
— $10, 000
C. 10 12

@

2

$ 8, 000
42, 000
$ 50, 000

$57.50
$57.50

$ 40, 000
$ 40, 000

(3

» NORWAY

$ 50, 000—40, 000

$ 50, 000

$2, 320
$2, 830
$2, 880
$1. 920

( D

X100%=20%

$3, 600
$3, 600

$2, 320

$2, 320



568 (
_ « NORWAY
$ 18, 000
— 2, 000
( 2 $ 20, 000
YL
Cn C  51. NORWAY $20, 000
$18, 000
D ’ ) 2, 000
8.
_ $50. ;0505 5(1;0408, ooox100%24% ’
=$11, 600X4% =464 .
=$14, 400X4% =576 ’ N
=$ 14, 400X4% =576 ’ .
=% 9, 600X4% =384 :
—9, C 93 NORWAY YL
000 , 4, 000 ,
@ $ 20, $ 40, 000,
A. :
$8, 000 A. YL s )
— 42, 000 $ 80, 000 .
— 50, 000 4, 000
B. : $80, 000
— $ 50, 000 — 2000
— $ 40, 000 $ 80, 000
— $ 8, 000 B. ) $ 10, 000,
— 2, 000 15, 000, .
C. — $80, 000
$3, 600 10, 000
$3, 600 15, 000
D. $ 80, 000
— ( ) $ 25, 000
$ 464 C. :
— — 2000 $80, 000
$ 464 $ 25, 000
7 $105, 000
, D. YL
) . — 2000 $ 105, 000
: — $ 105, 000
: E. $ 40, 000
C 8) NORWAY YL $ 145, 000
5 . $ 20,000, $ 145, 000
$ 3. 600, . YL 9.
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C

$5, 000,

Q)

2

(3

Y]

10.

C

$12, 000,

10JNORWAY
$ 15, 000,
$ 3, 000,
$ 10, 000,

113 NORWAY
$ 15, 000,

$12, 000

YL

1988

$ 2, 000,

$3?
$39

$ 10,
$107

000
000

000
000

000
000

000
000
000
000

000
000

000
000

000,
1989

NORWAY

90
000,

C

(D

)

3

12JNORWAY
$1, 000,

1, 000,

1989

¥4, 000

133 NORWAY

D/A

1988

5

Y5,
Y5,

¥5,
¥4’
17

¥ 10,
¥107

¥ 10,
¥87
27

¥ 10,
¥8’
27

Y5,

: ],

000
000

000

000
000

$27

000
000

000

000
000

000

000
000
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. X X X
C 147 NORWAY D/A90 >
$1, 000 1: 1.
¥5, 000 , )
¥5, 000 ,
90 .
1:4, ¥1, 000 :
C 153 NORWAY 1987 5 1
¥4, 000 $ 500,000,
¥1. 000 . 12% ,NORWAY 1987 12
¥5, 000 31 1987 )
XX X X = $500, 000X1% ( ) X8 (
X X X X ) =$40, 000
X X X X $40, 000
) : $ 40, 000
X X X NORWAY .
X X X X $6. 000, .
) $ 554, 000
1. 6. 000
$ 500, 000
. 40, 000
20, 000
. NORWAY 1988
$ 550, 000, ,
D) $ 544, 000,
XX X $ 550, 000
XX X $6, 000
2 544, 000
X X X 2.
X X X .
(3 s )
X X X . ,
X X X .
2. :
C 16 NORWAY 1988 7 1
. YL $100, 000,
, . 1.8% ,NORWAY 1987 12
31 . :
X X X $10, 800
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: $10, 800
NORWAY 6 30

$ 108, 000

10, 800

10, 000

$119, 440

— 2, 160

— $2, 160
$2. 160

XXX
XXX

X XX
XXX

C 173 NORWAY 1989 10

(D ) $1, 000, 000,
$ 520, 000, $ 400,
000, ,
$ 20, 000,
(2) s s
$ 10, 000, $ 200,
000, :
@ $ 20, 000
520, 000
400, 000

®

(D

2

3

Goods Sold) ,

60, 000

$1, 000, 000
$10, 000
190, 000

$ 200, 000

o

(Cost

3)

4

5)

of

o



572 )
s o : $ 500
C 200NORWAY YL
s $2, 020, $20 YL
2. s $2, 000 o
$2, 020
N N B $ 20
, 2, 000
R \ 3. R
’ = +
o ) - ( 6)
: +
C 183 NORWAY 1988 1 2
YL $ 20, 000, -
+
$ 20, 000
$ 20, 000 —
$ 20, 000 —
$ 20, 000 X — )
N “ ”» — ><
s — ) ( 7)
( 8)
“ ” (Purchase Returns ( 9)
and Allowances) , = X
s o ( 10)
C 19INORWAY YL ( 1D
s , 500
YL s o o
$ 500 C 21 NORWAY 19x1 11
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30

» 19X1

» 19X1
11
» 19X1

11 1
11 30
11 1

, 19X1 11 30

’

’

NORWAY

(O

2

11 30

$9, 000
61, 000
$1. 400
1, 340
2, 180
10, 600

$9, 000

$61, 000
2, 180
63, 180
1, 400
1, 340
60, 440
69, 440
10, 600
58, 840

’

$72, 180
$9, 000
61, 000

2, 180

$10, 600
1, 400
1, 340

$13, 340

N

(Direct Labor)

o

o

221 NORWAY
$1, 000,

28

28

direct Labor),

’

N

(

$1,
$1,
$1,

1,
$2,
$2,

)+

12)

000
000
000
000
000
000

(In-
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, > C 231 NORWAY 1988 6

’ H A
° 120, 000 s B 50, 000 s
s o 10, 000 5, 000
s s 9, 000 5,
s N N 000 s 6 A, B
s 121, 000 50, 000 o
NORWAY
1988 6
1 2
A C 3 1 2 2) 363, 000 242, 000
B ( 9 2) 0 450, 000
363, 000 692, 000
$0.42 $0.30

$ 152, 460 $ 207, 600

363, 000 692, 000

1988 6 30 20, 000 50, 000
383, 000 742, 000

: 1988 6 30 14, 000 65, 000
6 369, 000 677, 000
$0.42 $0.30

$ 154, 980 $ 203, 100

NORWAY
1988 6
A 121, 000 1/5 24, 200 $6  $145, 200
50, 000 1/5 12, 500 $6 75, 000

36, 700 $ 220, 000




575

NORWAY
1988 6
36, 700 ):
$93, 700
4, 000
11, 000
300
1, 100
$110, 100
14, 000
20, 000
1, 000
400
800
500
36, 700
$ 146, 800
$ 3. 00
1. 00

$ 4. 00




576 (
NORWAY
1988 6
( ):
1 $ 152,460
2 207,600 $ 360,060
( ) 220,200
( ) 146,800
$ 727,060
1988 6 1 110,600
1988 6 $ 837,660
1988 6 30 165,900
$671,760
(3)
(1) T .
. N XXX
. . X X X
(2) ,
. XX X
. . XX X
, . XXX
XX X
X X X — XX X
XXX
( )
X X X XX X
( ) XXX — XX X
( ) X XX XX X
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XXX
XXX
XXX
XXX

X XX
X XX

XXX
XXX
XXX
XXX

XXX
XXX

XXX
X XX

XXX
XXX
XXX

XXX
XXX
XXX
X XX

XXX
XXX

XXX

’

C 24JNORWAY

YL ,
000, $ 500,000,
1988 1 10
( )
[@D)

1988

XXX

XXX
KX X

11
$ 50,

$ 50,000
500,000
$ 542,500
7,500

$7.500
$7.500

XXX
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2

3

(D

)

XXX
XXX
XXX

XXX
XXX

XXX
XXX
XXX

XXX
XXX
XXX

XXX
XXX
XXX

KX X
KX X

XXX
XXX

XXX
XXX
XXX

XXX
XXX
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XXX
XXX

(O

XXX

XXX

(2

XXX

XXX

XXX

XXX

B XXX
XXX
XXX

3 o

( ) XXX
XXX

— XXX

XXX

€Y .

XXX
XXX

XXX
XXX

KX X
XXX

XXX
XXX

KX X
KX X

XXX
XXX

KX X
KX X

C 25INORWAY
10,000,000,
$ 8,000,000,

$ 5,000,000,

N N

6%.2% 2%, :
: $10,000,000X 6% = $ 60,000
: $8,000,000X2% = $16,000
:$5,000,000X 2% = $100,000
: $176,000
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) ; : X X X
, ; : X X X
: X X X
C 26JNORWAY 1988 6 1 : XX X
) s $3, ,
600, ,
6 1 .
$ 3,600 ,
$ 3,600 .
$ 3,600 : X X X
$ 3,600 : XX X
12 31
$ 1,500 : XX X
$ 1,500 : XX X
$2,100
$ 2,100 : ( — )
XX X C 27INORWAY .
XX X $50,000, $1,000,
— X X X . YL ,
$ 2,000, $ 500 .
— XX X
XX X €))
$ 51,000
, : $ 51,000
, @) YL :
. : $ 2,000
, : $ 2,000
. 3

$ 5,000
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$ 500 )
. 1.
C 28INORWAY
$ 50,000, . ” . “
$1.000, : .
— $ 50,000 ,
1,000 @D
$ 51,000 o
C 307 NORWAY 1988
, 31
. $ 40,000
, $ 630
; , 430,000
. 3,000
C 29INORWAY YL 0.5%, :
$1.500, $1.000, $ 430,000
$ 60, 3,000
. $ 427,000
€D) YL . = $427,000X0.5% = $2,135
$ 1,500 ) :
$1.500 $2,135
2 2,135
$ 1,000 ”
$ 940 ($630+ $2.135)$2.765,
— $ 60 (2
$ 60 .
$ 60 “ 7 ;
) . $ 40,000,
$ 3,000
, “ ”(Loss on Bad Debt)
, 3,000

630

12



582 (G
$2.370 $1.200
2. —YL 1,200
. $1.200
: 1,200
C 31JNORWAY YL $1, $1.200
550, YL 1988 . 1.200
,NORWAY ; ,
.YL , .
€)) —YL $1.200
$1.550 1,200
—YL 1,550 “ ”(Bad Debt Recovery)
(2 s “
—YL $ 1,550 ”
1,550 ,
$1,550 . ,
1,550 )
, YL $1,000, “ » .
, $ 500 ,

(Allowance Method),

o

write —off —Method) s

s

C 32] NORWAY
$ 1,200 >

” (Direct —

YL

“ ”(Retirement) ,
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)

O o

16)

17

18)

(3 o
A.
= X

( 19
= X

( 20)

( 2D
B.

( 22)
= X

( 23)
4 o

( 24)
(G
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(O
2

(3)

(

10%)

1,

1—10%

Q)

20
(2)

1—-10% _ 90%

20

v

=4.5%

20

25)

1—10% _ 90% _

10
3

10

1—10% _ 90%

5

5

9%

=18%

12

26)
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(O

)

Q)]

)

3

€Y

@®

XXX
XXX

XXX
XXX

XXX
XXX
XXX
XXX

XXX
XXX

XXX
XXX

10%,
33%

C

309,

33JNORWAY

$ 3,000,

(D

2

3

(D

2

$ 370,

1—4

$ 3,630,

1—4

30%+30% X 10% =

$ 3,000
$ 3,000

$ 3,000
$ 3,000

$ 630

$ 630
$ 4,000,

$ 4,000
$ 4,000

$ 4,000
$ 4,000

$ 370

’
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— $ 370 : $ 370
, : — $ 370
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(D
2

3

D .
5

(6) .
P

[}

C 1JNORWAY

1,000,000

~ A~ A~ ~

(12
(18
(24

200,000
300,000
200,000
300,000
1,000,000

10%
10

30

20

30
100%

°

$200,000010% +10%),



588 )
$ 300,000, 1 7%,
. 10%, 20% , 40%
. 30% . 1,550 50
: 1,500
C 2INORWAY 1,000 .
7%
$ 1,000 (B) $ 300
(E) 400
(D) 300
$ 1,000
$ 1,000 $ 1,000
() $ 400 (F) $ 400
G $ 300 (H) $ 300
(A) $ 155
B $ 150
(1,000X20% — )
) $ 400
(H) $ 300
— (O]
(A) $ 155
B $5 i
B $ 150
$ 300
$ 305
$ 305
(G
’ o b 10
. . 10
C 3INORWAY 5000 10
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(1) 50,000
(1) 50,000
(@) $ 50,000 (1) $ 50,000
(G
’ . 12
s 10 o
, (1) , 1) C 4INORWAY 5,000
.’ 12 ’
$ 5,000
$ 60,000
$10,000
1) $ 50,000
(1) $ 50,000 $ 60,000
(1) $ 10,000
$ 60,000 $ 60,000
(1) $10,000

10



590

. : . .8
( ) s 10 .
, 10,000 .
. C 5INORWAY 5,000
10 , 8 .
(G
$ 50,000 $ 40,000
$ 10,000
$ 50,000 $ 50,000
$ 10,000
$ 10,000
$ 40,000
$ 50,000
$ 50,000
? , 5,000
: 10 ( ),
C 6JLS GS 1984 1 1
LS 1984.1.1
$ 50000 $ 50000
GS 1984.1.1
$ 50000 $ 50000

, 1988 12 31 5,000

50,000

’ (b)

(a)
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LS 1) 1988.12. 31.
(a) (b) (a) (b)
$50,000 $ 100,000 $ 55,000 $ 55,000
10,000 10,000 5,000 55,000
60,000 110,000 60,000 110,000
° s 11
» 5,000 60,000 ( s
10,000 s s
), s 12 o
,» 10,000 s 110,000 ? s
( 50,000 ) 11 12 s
1 (=12—1D , 10
LS (@ 1988. 12. 31
(a) (b) (a) (b)
( ) 50,000 100,00 55,000 55,000
10,000 5,000 65,000
10,000 10,000
60,000 120,000 60,000 120,000
» () 60,000 ( Do s
s 12 ¢ 5,000 ), 40,000 5,000
) 120,000 ¢ 10,000 ), 8 5,000
12 o 10 s
GS s s
GS 1988. 12. 31.
50,000 100,000 30,000 30,000
10,000 50,000
10,000
10,000 10,000
50,000 100,000 50,000 100,000

12



592 ¢ )
$ 800
4 B
A $ 950
s s $ 50
1000 $1, $1, $ 1,000
000, $ 800 (5)
A . $950 $ 40
. $ 40, $ 40
s 6) A
( $ 710
$710
3 , 1.2 ()W) (5)H6)
@))
— $ 1,000 $1.000
. $ 1,000 — $ 200
2 A $ 800
$ 800 )
. — $ 800 . . “
(DA — T
$1.000 , “©oT
$ 200
$ 800 ’
4) A B : ’
$ 950 ° ’
$ 50 o .
$1.000 °
(5) ’
- C 7] $100 200
$ 40 $ 50 20 . $ 22,
$ 40 200,
’ . $105,
) $ 54, :
D (200X $105) $ 21,000
$ 1,000 (20X $54) 1,080
. $ 1,000 $22.080
< A $ 22,200
$ 800
— $ 800 gézgggx $22,200=$ 21,114
(3
$1,00
- 5 ¢ 202 212’7008800>< $22,200=$1,086
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(3) s s
$ 22,200 .
$ 20,000 . .
1.000 g?’gggx $ 22,200
1.114 ’
86 $ 21,143
1,000
(2) R s 5292,
21,000 ¢ $ 22,200
' $ 1,057
' ’ $ 22,200
$ 10xr7
) $ 22,200
$ 22,200 i
$ 20,000
(200X $105) 21,000
1,000
$ 1,200
1,143
57
$ 22,200
20,000 . R
1,000
1,000 () .
1,000
1. .
2. (@)
(@) 2 h
2 ’
3.
(G
) (Preemptive Rights) (Subscription Warrants)

’

(D .

2 .

(3) ’
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C 8INORWAY $100 $102,000
$105 1,000 $100,000
1,000 $ 25, 1,500
: 500
(D $ 25, $24 @) . .
. $3,200(=100X $32)
$ 105,000 2,500
$100,000 $ 500
5,000 1.200
2 $ 25, $27
, 1,000  (1,000X
$2=¢$2,000) . ,
$ 105,000 ; )
$ 100,000 .
3,000 ,
2,000 .
(3 $25 1,000 $ 27
$ 25,000
2,000
$ 27,000 ,
4 s
“ — ” . $ 1,000 )
. $ 10 80
$ 2,000 80, $12.50(= $1,000+80),
— $ 2,000 .
(> .
C 9INORWAY $100, 000 (100 . ,
)10 6% . $1,000, )
$1,020, 100
100 $32¢( ,
$25), $37, ,
$1,015, $5.
(100X $1,015) $ 101,500 . , s
(100X $5) 500 )
$102,000(=100X $1,020) , )
D) , s s (
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C 10JNORWAY 100
> 1000 40
45,000  ( 50,000 ),
50,000
5,000
40,000
5,000
NORWAY >

( $50, 1,000 ) $50,000

1,500
( $10, 10,000 ) 100,000
20,000
180,000
. NORWAY
$51.50/ .
5 . 25% .

($50,000X25%) $12,500
($1,500X25%)375

($250X5X10) $ 12,500
375

($50,000x25%)  $12,500
($1,500X25%)375
($250xX4X10)  $10,000
2,875

6 ,

($50,000x25%)  $12,500
($1,500%25%)375

2,125

($250X6X10)  $15,000

C 117 .
. $ 150,000,
1500 $ 100,
, 480
: $ 300, $ 1,200,
$1,500, , 300,
$ 110,



596 (
1988.12. 31
$ 600
6,300
600
17,700
6,000
22,500
— 4,500
3,000
1,800
— 25,200
— 18,000
$ 53,100 $53,100
, 3.
$ 900
$ 4,500
€ 3,000
1,800
1. 52,800
$ 1,200 $ 600
$ 1,500 $ 6,300
$ 300 $17,700
$ 2,400 7,200
2. , 24,000
, 7,200
(= (480X $110)— (18,000 25,200 4.
+2,400)) 7,200 $ 52,800
$ 3,600 52,800
— 3,600 5.
3. $ 30,000
— $30,000 22,800
— 22,800 $ 52,800
(480X $100) $ 48,000 ,
4,800
4. 1
$ 33,000 $ 600
(300X $100) $ 30,000 6.300
3,000 17,700
7,200
¢ ’ 24,000
. 1.2 . 7,200
3.4 . $ 900



597

(O

2

(3)

(O

)

4,500
3,000
1,800
2,800
52,800

$ 52,800
$ 48,000
4,800

$ 33,000
$ 30,000
3,000

s

127

150,000

150
$ 90,000

10,000
14,000
29,000
50,000
103,000

13,000

90,000

103,000

$103,000
$10,000
14,000
29,000
50,000
$ 13,000
$13,000
$90,000
$ 90,000

$ 150,000
$ 150,000

€Y

$ 10,000
14,000
29,000
50,000
$ 13,000
90,000
$ 60,000

$ 60,000
$ 60,000

$ 150,000
$ 150,000
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(
9 )
s )\
R (
) . ).
) N )
) 1)
“ ”
b N
sent Value)” “
C 13 $1,000 ,
’
6% b
$1,060 $1.000
6%
= X 1+ X )

$1060=$1000X (1+6% X 1)

“a+ X )
. _ $1,060
( :$1’0007(1+6%><1)

“@

(Pre-

$ 1,060,



599

s ( = X (1+ )
) , ( 3)
. ;@D C 2] $ 1000, 8%,
e 16) .3 :$1,000% (140.08)°
( Do =%$1.259.7 $1.000 8%
s 3 $1,259.7 o
s s $ 1,240,
( ) s C 5 )
b ( b o
b ( )7
s o (@D
) [} (2) H
o (3) .
— ( —
< ( )<< ( — )
> ( ) > ( + )
: s ( ).
$ 100,000, 6% .4 ,
6% = 6% 6%6<< 7% 696> 5%
$100,000% (14+0.03) 8 $100,000X 0. 75943—>(1+0. 035) 8 $100,000% 0. 82075—>(1+0. 025) 8
= $78,940 = $75,943 = $82.075
$3.000X7.018>(140.03)8 $ 3,000 6. 8740 (140.035)8 $3.,000X7.170—>(1+0.025)8
=$21.060 = $20,620 =21.510
$100,000 +
= $78.940+ $ 21.060 - 96.56°
$ (% : $96.563+3.437 $103,585— 3,585
$100,000 $100,000 $100,000
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C $ 100,000 () $100.000
3,437 3,585
( ) $96.563 ) $103.585
, ( )
“ ” = +
“ ” ( )
“ ” ( )
:@ ’ ) .
(1)
+ —
$3,430:$3,ooo+3’337 $2,552:$3,ooo—3’28°
i} - ( )X

4
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$ 15,000, $ 16,500,
o , 1977 12 31
C 3INORWAY 1977 1 1
( )
M= $100,000X 3% ®:$3.437><% =0+ | ®= ®H—® |G=$100,000—)
1/1 $3,437 $ 96,563
1989
1 3,000 430 3,430 3,007 96,993
2 3,000 430 3,430 2,557 97,423
3 3,000 430 3,430 2,147 97,853
4 3,000 430 3,430 1,717 98,283
5 3,000 430 3,430 1,287 98,713
6 3,000 430 3,430 857 99,143
7 3,000 430 3,430 427 99,573
8 3,000 427 3427 0 100,000
$ 24,000 $ 3,437 $ 27,437
1977 $ 5,000 5/15($ 5,000/ $15,000) $ 500
1978 4,000 4/15 400
1979 3,000 3/15 300
1980 2,000 2/15 200
1981 1,000 1/15 100
$ 15,000 $1,500

N (2): N



602

s o 4IJNORWAY 1981 1 1
, . . 8% $ 200,000,
, . , $ 100,000,
s 1984 12 31 s
s 1 1 1
“ ”o ) 9
$100,000., 6% » 7%
( )
®= B X3.5% = $100,000X3% B=0- @®= [(ORS6)) 3= $100,000—®D
1/1 $ 3,437 $96.563
1989
1 $ 3,380 $ 3,000 $ 380 3,057 96,943
2 3,393 3,000 393 2,664 97,336
3 3,407 3,000 407 2,257 97,743
4 3,421 3,000 421 1.836 98,164
3,436 3,000 436 1,400 98,600
6 3,451 3,000 451 949 99,051
7 3,467 3,000 467 482 99,518
8 3,482 3,000 482 0 100,000
$27.437 $ 24,000 $ 3,437
$100,000, 6% . 5%
(D= $100,000X3%| @= BX2.5% B3=0- ®= )= $100,000+@D
1/1 $3.585 $103.585
1989
1 $3,000 $2.590 $410 3,175 103,175
2 3,000 2,579 421 2,754 102,754
3 3,000 2,569 431 2,323 102.323
4 3,000 2.558 442 1.881 101.881
5 3,000 2,547 453 1,428 101,428
6 3,000 2,536 464 964 100,964
7 3,000 2,542 476 488 100,488
8 3,000 2,512 488 —0— 100,000
$ 24,000 $ 20,154 $ 3,585
1.
$ 100,000 $ 4,000
$ 100,000 $ 4,000
1981 8%

$ 100,000
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1981.1. 1. NORWAY s $ 60,000, $62.622,
10%, , $ 1,500,

$93,537C 5% 8
0.67684  6.46321,
, (= $100,000X0.676844+ $ 4,000
X 6.46321=)$ 93,537
1980 10%
$ 93,537
6,463
1981 8%
$ 100000
( )
$6,463+8=$808)
$ 4,000 )
$ 4,000 )
$ 808
: $ 808
3. 1980. 12. 31.
6%
, $107,020¢(

%009 8

0.78641 7.01969, $ 100, 000 X
0.789414 $ 4,000 7.01969= $107,020)

$107,020
1981 8% >
$100,000
$7,020 ,

$ 4,000
$ 4,000
$ 789
$ 789

o ’ o

C 5JNORWAY 1980 7 1 “XX —
1980. 4. 1 10% s “

$

64,122

$ 1,500

60,000
2,622

$ 1,500

1,500

$ 3,000

$138
$138

o

$1,362

138

$1.500



604 C
>< I ” ° . .
C 6INORWAY 1989.1. 1. $50, ( ),
000 LRR . . ( .
)o .’ ’
:LRR — $ 50,000 C 7INORWAY 1984
$ 50,000 $ 100,000 .
$50,000 “ ”’ “ ”$25’
.LRR — 000 .
$ 50,000 , ,
s “><>< o 7”
“ 9 , “ ”’ “ ( )
M><>< o ” N ; ,
:LRR — $ 50,000 ,
$ 50,000 ) ,
$ 50,000 )
$ 50,000
(1) .’
$ 50,000 .
:LRR (2)
$ 50,000 )
. ’ ’ (3)
() C 8INORWAY .
1984 3 1 102( 102%)
° $ 10,000 ,
> ’ (1984 1 1 (1984 3 1
o : $83(= $10,000X0.05X
19X X X X %( IGED) 9
$ X X X X X ( ) 120
$ XXX X X $7, $14, ,
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$ 10,000

D)

2

)

($7X340)

(102%) $10,200

83
$10,117
$10,000
238
9,762

$ 355

$14
$14
$10,000
83

355

$ 238
10,200

o

C 9INORWAY , 1988 12
$ 50,00
NORWAY
$ 8,000 , .
a1 . $ 8,000
$ 8,000
@) $ 32,000
$ 32,000
$ 5,500,

3 $ 37,500
$ 32,000
5,500

$ 300, :
) $ 300
$ 300
. $ 100,
(G $ 100
$ 100

$ 50,700,

$ 50,000 ,
6) $ 50,000
: $ 50,000
7 $ 700

$ 700

s ) )

LT ”
’

31
0,

s
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n)

n)

000,

QD)

2

106,

$ 1,060,

’

$ 100
$17



607

1/8 . . NORWAY
NORWAYR 8% 95 45 103 102 102% —1
45  NORWAY , ., $100.875,
8§, $1,000 1995 $50,437. 50, ’
, $103, $ 102, $1,000
, $1,030 $1,020, (
) $102% $1,025, YL 5% —_— (
$50,437.50) $ 50,500,
$1, $ 10, 50) $
)
)
C 1INORWAY YL 5% ’
i C 2INORWAY 1988 12 31
500 $ 100, $ 50,000,
101 $50,500¢( ),
$ 43,100 $ 36,750
. . $ 38,000, :
@ . $ 38,000
(GO $ 6,350 6,350
$ 6,350 : $ 43,100
,NORWAY 1,250
(A)
— ( $43,
100) $ 36,750 ¢
B .
— C 3INORWAY 1988 5 1
$ 43,100 $ 980 YL 1986 7.5%.
65350 $1,000 10
$ 36,750 $ 20, 1 1 701

1989 s s s 1 1 4 30



608

$250(= $10,000X7. 5%><%),
$9,820X10+ $ 20),
—YL $9,820
250
$10,070
(G
( ’
) s s
C 4INORWAY 9 1
YL 6 $5,892
($982X6), $ 20, (7

1 8§ 31 )
2
£ A
7.0A><12)7

— $5,892= %88,

—YL

NORWAY

1988 7 1

’

(

$125, $250(

$75(=$6,000X

($6,000— $20)

$6,055
$5.892
88
75

$ 375
$125
250

$375

( ,NORWAY

o

C 5JNORWAY
$4.620(
100,
— YL

o

C 6JNORWAY

1982 6 24
) YL

$ 4,620
$4,620

1983 1 28
80

$3,185, 80

$3,185
175
$ 3,360

, YL 12
$1.50, ,NOR-

$ 150
$ 150

s

10%

$ 40 YL
$15,
80X $42=$ 3,360,
$ 175,
—YL
()
28
WAY
. YL
> s NORWAY
( ) YL

10
110
$42(= $4,620/110



609

(Open Market)

”
o

o (

C 7INORWAY 1982 1 1
$103,585 YL 4
6% . $ 100,000 ( ,

,  $3,585
). YL 1 71
€)) $103,585
$103,585
$ 3,000 (= $100, 000 X
0.06X1/2)., ,
. 4,
8 NORWAY
$ 3,585 , $448(=3,
558=+8),
@) $ 3,000
$ 448
2,552
) ( )
$ 448¢( $ 449 ).
$ 100,000
s ( )
)
1.



610 ¢ )
1982.2.1.1 103,585
1 3,000 2,552 448 103,137
2 3,000 2,552 448 102,689
3 3,000 2,552 448 102,241
4 3,000 2,552 448 101,793
5 3,000 2,552 448 101,345
6 3,000 2,552 448 100,897
7 3,000 2,552 448 100,449
8 3,000 2,551 449 100,000
24,000 20,415 3,585
o (3)YL $7,
(1)NORWAY $ 50,000 YL 500, $ 2,500,
;YL $ 50,000 .
: $ 50,000 $ 2,500
(YL $15, : $ 2,500
000, $ 2,500, , (4)YL .
s $ 6,000, , ,
$ 2,500 2.
$2.500
YL YL
50,000 50,000
YL 15,000 15,000"
YL 2,500" 2,500
15,000 15,000"
62,500
;YL 7,500" 7,500
YL 2,500" 2,500
7,500 7,500
52,500
;YL 6,000 6,000
6,000

46,500

6,000"




611

’ o

C 8INORWAY 1982 4 1

$ 106 YL 1980 8% 10
$ 100 50,
$ 10, 1 1 7 1
s $ 100
(=$5,000X8% x3/12), 5,

310(=$ 106 X50+ $10),

—YL $5,310
100
$5,410
, $ 310,
93 , $ 3. 33,
7 01 $200(=$5,000X8% X1/

$ 10, ;

. $5.300(=$5,
310—$10),

1 : $ 200

$ 100

100

2 : $10

—YL
$10

$ 200 .
$ 20

NORWAY
NORWAY

$18.

5—$18)
$10),

(D

2

3

$107

o

1986

$110 s

1986
$ 5,140,

’

7

1

$ 100

s

$5,482(= $ 110X
$5,130(=$5,140—

—YL

—YL

$100
$ 100
$10
$10

Do
$5.582
$5,130
100

352

20%



612 (

) 20% 50%
QD) 20% —50% . .
C 9INORWAY 1984 YL N
25%, YL )
$ 16,000, $12,000, NOR- . ,
WAY $3,000, ) o
. NORWAY :
(1) YL $16,000 25% $ XX X XXX
YL $ 4,000 (1973 ) $89,810
: $ 4,000 —YL 1985 6%
(2 $103,585
$ 3,000 $100,000
—YL $ 3,000 3,585
—YL 1988
¢ 50% $ 50,000
, ) ) $ 45,000
$ 5,000
s ) $ 238,395
1974 . $ X X X XXX

. $ XXX XXX



613

s ( [@D)
’ (2) “
o ” s (
’ .’ )7
(3)
. ( .
( ) ( ) .
RO, ( ) .
7(@ ’
D
. MR
;@ ( . )@
\ (Net Income)
b ’ ’ :@
s “ 7, (= — ); @ (=
. &) (=
)@ 6]
$ 840,000
— —520,000
[@D) $ 320,000
— 165,100
(2 154,900
40%) 61,960
(3) $ 92,940
(4) —540
) $ 92,400




614 )

“ ”
’ o
o b
b b ’
“ ”
9 9 o
.(D
(D R N N N N H
“ ” G
; ) HE) ;@
o b o

10% s 5% . s

10% , . )

o ’ o

s C 1JNORWAY 5,
. . 000 .4 1 15,000 , 7 1
, 5,000 (25%)
( “ =5,000X12/12415,
) 000X 9/1245,000X 12/12=21,250
; . NORWAY ,



615

NORWAY $ 92,940,
$ 540, 92,400(= $ 92,940—540) .
4.35 (= $92,400/21, )
250), $4.37(=92,940/21,250) . .
$0.02(= $540/21.250), .
s ) C 2INORWAY $ 100,
( “ 000, 40,000 (
F ) 5,000
(D) $2,
;(2) $6, ( )
$ 100,000 $100,000 $100,000 $100,000
10,000 0 30,000 0
$ 90,000 $ 100,000 $70,000 $100,000
40,000 40,000
50,000 50,000
$2.25 $2.00 $1.75 $2.00
(5) s “
$0.25, “
$0.25, (6) s
( .
s : , s
(D ( ) o
( ) ;
(2) ; o
(3) : o
( “ 7 “ o
o , .
€5 @® e .
He) s “ 1

“ 7y 1) (Date of Declaration) .,



616

(2) (Date of Record),
(3) ’ (Ex—dividend;Date) .
4) ’ (Date of Payment):
s 2~4
2. 7 )
Do ’

D)

(
7. (2) 5
(3) o
C 3INORWAY 1982.2.1.15
$ 50 1,000 .
1982.2.2.29 ,1982.2.3.15 .
[@D) ,
$50,000(=1,000X $50)
. $ 50,000
(2) “ ” \
$ 50,000
7 $ 50,000
7y . (3 . s B
s $ 50,000
$ 50,000
( ” “ ”
. o Z(D
) . 1] ,@
C 43I NORWAY
. $ 50, 000, YL ,
000, $ 50,000,
[@D)
$ 10,000
$10,000
10% (2)
$50,000(= $40,000+ $10,000)
$ 50,000
(3

$ 40,



617

4)

000
C 5INORWAY
5% b
$ 6,000
(D
(2)60

($16,000><5><ﬂ)

( 10%)

800 s

$ 8,000

$10C="g50

$ 50,000
$ 50,000

$ 50,000
$ 50,000

$ 50,000
$ 50,000

7 $10,

$16,000,60
(
$10,000)

$ 6,000
10,000
$16.,000

$ 16,000
360 133

$16,133

8,000,

25%

N

, 200

¢ 8 (= 8,000

$2(=%$10—$8),

’

QY]

(2

(3

(

o

(800+-200)

(=800X25%),

)7

’

100%

C 6JNORWAY

$ 6,000,
(D

2

(3

$ 7,200,

Do

$ 7,200
$ 7,200

$ 7,200
$ 7,200

$ 7,200
$ 6,000
1,200



618

(500 $100) (10,000 $5)
$ 50,000 $ 50,000
2,000 2,000
8,000 8,000
$ 60,000 $ 60,000
_ $250,000— $ 103,000
o 1,000 =147
(
)
(
)7 ’
( 1 s
C 7INORWAY ’
1,000 $ 100,
$ 100,000, $3,000; ’
1,000 $100;
« ” $ 50,000,

_ $100,000+ $ 3,000 .
N 1,000 =$103
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A 9 b
) = X ( 2)
15% . . _ _ _
’ ( - X(lils%)o .
( , Taxable Income) ,
( ) (
0 $ 25,000 0 15% $25,000X15%
$ 25,000 50,000 $ 3,750 18% 3750+ (50,000—25,000) X 18%
50,000 75,000 8,250 30% 8250+30% X (75,000—50,000)
75,000 100,000 | 15,750 40% 15,750+40% X (100,000—75,000)
100,000 — 25,750 46 %

o

C 8INORWAY

$ 90,000, :
$ 15,750+ ( $90,000— $ 75,000) X
40%=$21,750

s (Effective

Rate), ,NORWAY *$90,000
:24- ZVD )

(Margminal Rate), $ 100,000

X 46% — $ 20,250 \

s (Capital
Gain) o

(Capital Assets)

Do

o ’

s (Capital Loss),
b (
) (
) b
28%.
5%
C 93 NORWAY 1988

$ 500,000



620 (

20,000 $ 360,000
20,000 s
$ 540,000 $ 5,000,
$ 10,000
180,000

NORWAY
1988 (  1988.12.31)

$ 500, 000
20, 000
$ 20, 000
5, 000 15, 000
$10, 000 17, 000
$ 535, 000
$363, 000 5% 18, 250
$ 346, 750
$20, 000X85% 17, 000
$329, 750
28% 15, 000
$ 314, 750
$15, 000 28% 4, 200
( X46% — $ 20, 250) $124, 535
$128, 735
, 2.
o s (Pretax Ac- R

counting Income)

’ ’ ° ’
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D)

2)

3

€Y

)s
QD) (3)
(2) (4)
(
). NORWAY
s C 10 NORWAY 1985.1.1
$ 50, 000 R 4
. NORWAY
, 1985 1988
$ 50, 000,
40% . NORWAY 1985
1988
1985 1986 1987 1988
$ 50, 000 $ 50, 000 $ 50, 000 $50, 000
(
N 11, 000 12, 000 13, 000 14, 000
39, 000 38, 000 37, 000 36, 000
15, 600 15, 200 14, 800 14, 400
40%)




622 (
1985 1986 1987 1988
$ 50, 000 $50. 000 $ 50, 000 $ 50, 000
( ) 12, 500 12, 500 12, 500 12, 500
$37, 500 | $37, 500 $37, 500 | $37, 500
$37, 500 | $37, 500 $37, 500 | $37, 500
15, 600 15, 200 14, 800 14, 400
$21, 900 | $22, 300 $22, 700 | $23, 100
($37, 500X40%)

$37, 500 | $37, 500 $37, 500 | $37, 500
15, 000 15, 000 15, 000 15, 000
$22, 500 | $22, 500 $22, 500 | $22, 500

NORWAY s

( ’

, s ), C 11INORWAY 1985 1988
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1985 : $ 15, 000

600

$15, 600
1986 : $ 15, 000 : $15, 600
200 : $15, 600

$15. 200
1987 : $ 15, 000 : $15, 200
$ 14, 800 : $15, 200

200
1988 : $ 15, 000 : $ 14, 800
$ 14, 4000 : $ 14, 800

600
1989 : $ 14, 400
$14, 400

) (Deferred Income Tax ,
Debits) s . s
, (Deferred Income Tax Credits) ,
( Do ,
1985 $ 600
1986 200

1987 $ 200
1988 —600




624 (

. ; 1.
@)) . $5, o
000 $15, 000; C 17 $ 100, 000
(2 s
, . $1 (@D)
$5. 5, 000 $1 , : $100, 000
1, 000 $5 ; : $100, 000
3 s o (2)
10, 000 $1 10, 000 : $ 100, 000
; : $100, 000
4 . ; ) .
; , ¢
. $ 10,000, ,
$ 8,000, ,
$8, 000, . )
, 2.
o C 2] 1000
. $ 100, . :
, , (2) (3 : $100, 000

$100, 000



625

. s $ 1,000 $ 1, 000 ( ,
, ). $ 7,000
, s $ 8, 000,
$ 3, 000, s
NORWAY . $1, 000 $7, 000
C 33 NORWAY 10 $1 s $7, 000 .
1, 000 $1, 000 , $7, 000 ,
. . , $1
b 7 b $10
1,500, 15%, s
$1, 000 . 100% .
NORWAY
( ) 1988.12.31
$1, 000 $5, 000
( ) $9, 000 5, 000
$ 10, 000 $ 10, 000
NORWAY
( ) 1980.1.1
$5, 000
($1, 000+ $7, 000) $8, 000
($9, 000—$%$7, 000) $2, 000 $5. 000
$10, 000 $10, 000
$1, 000 , : 8
8, 000°
1, 000 o 10 =0 ’
g OOOXlo@A—lz.oA . 10
, 1, 000 $10, $1 s ,
000 s 8 s $8.
’ $107 9 ’
$ 10 $ 8. ) . ,



626 C
NORWAY
$7, 000
$7, 000
$ 7, 000
) $7, 000
1, 000 $ 100, $105,
$ 100, 000
5, 000
$105, 000
2.
[@D) s
[ 5] 17
(2) ( 000 $ 100, $ 98,
[@D)
(3) : $100, 000
( ) $98, 000
2, 000
(4) (2)
) $ 100, 000
$ 100, 000
, 3.
N : [@D) s s
[@D) ( ) .
C 61 NORWAY $ 100,
(2) 000, 1,000 $ 50, 000,
)
$50. 000
h : $50, 000
1. (2) s s
. C 7] $ 200, 000,
C 4] NORWAY 2, 000 $ 100,



627

$ 100, 000, $ 50,
$ 100, 000
$ 100, 000
. )”
’ ’ o (
o)
o : 000
1.
”
““ ” “ ”
2.
C 81 NORWAY
$ 100, $ 105 s $110
100, :
($100X100) $ 100, 000

($5%X100) 500
500

($110x110) $ 11, 000
“ ( ) (
, NORWAY $110
100
($100X100) $ 10, 000
($100x100)  $10, 000
93 NORWAY 20,
$10,  $10.5 L
” $9, 600, “
$13. 000, $12
200 :
H - $107 207
000 $ 200, 000
200 2, 000
$ 198, 000
( )
13, 000
9, 600
$ 220, 600
NORWAY



628 (
(D
$11, 000 NORWAY ,
$11, 000
(2 $10, 000
($5xX100) 500
$11, 000 $11, 000
11, 000
3 : ( $10, 20, 000
$12, 000 $200, 000
$11, 000 10, 000
1, 000
4 ( $2, 400
$5/ 10, 600 13, 000
$10, 500 $ 223, 000
500 ( ) 2, 400
$11, 000 $ 220, 600
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50% R
( )

v C 1JP 1988 10 1

P 1988. 9. 31

$ 18,000

$ 402000 20,000

25,000 $ 38,000

20,000 $ 100,000

$ 85,000 37,000

90,000 137,000

$ 175,000 $ 175,000

S 1988. 9. 31

$ 7,000

$ 5,000

3,000 $ 15,000

6,000 2,000

$ 14,000 17,000

10,000 $ 24,000

$ 24,000

,P S 100% 000, S . ,P
. (1988. 9. 31) $ 23,000
$ 13,000
N 10,000

$ 13,000 $10, P



630 C
P 1988.10. 1
$ 18,000
$ 27,000 30,000
25,000 $ 48,000
20,000
$ 72,000 $ 100,000
S 23,000 37,000
90,000 137,000
$ 185,000 $ 185,000
. S s S o
o .S P
7P “ S ” .
S ., P S
o ’ o 9S
$ 23,000 $17,000), .
$ 23,000 B
$ 5,000 $ 5,000 B
3..000 3,000 $ 1,800
7,800 7,800 2,000
12,000 12,000 B
(7,000) (7,000) $ 3,800
$ 17,000 20,800
$ 2,200

s

ance Sheet),

(Consolidated Bal-
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S 1988.10. 1
P S
27,000/ 5,000 32,000
25,000/ 3,000 28,000
20,000 6,000 (a)1,800 27,800
. - (a) 6,000 B
S 23.000 (b) 17,000
90,000/ 10,000| (a)2,000 102,000
— — (a)2.,200 2,200
185,000| 24,000 192,000
18,000 7,000 25,000
30,000 — 30,000
100,000 15,000] (b)15,000 10,000
37,000/  2,000[ (b) 2,000 37,000
185,000 24,000 23,000/ 23,000 192,000
P S 1988.10. 1
$ 25,000
$ 32,000 30,000
28,000 $ 55,000
27,000
$87.000 $100,000
102,000 37,000
137,000
2,200
$192,000 $192,000
P
S ( 40
) (Badwill) .
)7 N
)o o b P
. . $ 20 500 S
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$100 150 $ 17,000 .S
P : $ 15,000, P
(1988.10. 1) $ 17,000 $10,000(500 X $20),
$ 10,000 $ 5000, “
” .S
$ 5,000 P
) .S ., P
2,000
P 1988.10. 1
$ 18,000
$ 40,000 20,000
25,000 $ 38,000
20,000
$ 85,000 $ 110,000
5,000
S 17,000 39,000
90,000 154,000
$192,000 $192,000
P “ ” , ,
S , ( Do
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S 1988.10. 1
P S
40,000 5,000 45,000
25,000 3,000 28,000
20,000 6,000 26,000
S 17,000 — 17,000 —
90,000 10,000 100,000
192,000 | 24,000 199,000
18,000 7,000 25,000
20,000 — 20,000
110,000 15,000| 15,000 110,000
5,000 — 5,000
39,000 2,000 2,000 39,000
192,000 24,000| 17,000| 17,000 199,000
. ( Do ,
’ ’
P S 1988.10. 1
$ 25,000
$ 45,000 20,000
28,000 $ 45,000
26,000
$ 99,000 $ 110,009
5,000
100,000 39,000
154,000
$199,000 $ 199,000

)’



634 (G
10 . $ 70, $ 30
, . $40
, ; $420, 6 )
$ 70, 3
: 4 ) $176.
@)) . .
s P s :
, €D $7,
; 000, $5,6000%7,000X80%)
(2) . S $5.600
( ) S $5,600
, (2
; . ($
Sy : B4 g 70+ $ 70
. , S $1.580
, . , S $1,580
R 3
$176
, , S $176
“ » (€] ,
( ) $ 524,700
( ) $ 36,400
S 4,020
, , $ 386,000
X , 36,400
, 55,723
26,897
, , 17,900
3 42,100
. (5) :
. $42,100
(O S 1989 12 25 $42,100
$ 1,500, 1989 8 1 . )
1988 ) 1988 10 1 .
1989 9 31 ; ,
(2> , o
. $ 1,440 . ( ) ) .
(3 . . $ 480 ,

$ 700,



635

( ) (b
, ( ) $ 15,000
s s ( )( ) 2,000
, ) ( )
. 4,020
) ( )
1. $16,420
(a) ( ) ( )1,500
( ) $ 1,540 3,100
( ) 40 (©) $ 1,400
) ( ) 1.460 $ 1,400
1,584
( ) $4,624 . P
2. S
( )
$1.440 | $1,400 —
100 :
1,600 10 $ 1,460
1,760 176 * ¥ 1,854
$4,800 | $1,756 $ 3,044
(80%) (20%)
$ 15,000 $12,000 $3,000 $ 15,000
2,000 1,600 400 2,000
$ 17,000 $13,600 $ 3,400 $17,000
* 4020 — 4020
(1,200) (300) (1,500)
$16,420 $3,100 $19,520
— * % 1,400 1,400
$16,420 $4,500 |* * $ 26,920
* $5600($ 7,000X80%)— $1,580= %4,
020
* % $1,400= $7,000%20%
* ¥ : $20,920 $15,000=$5,920+
$1.580= $ 7,500



636 (
“ ”
9 b
) (e . (d) (e ) ( ) $ 36,400
(a) (b) () $ 36,400
(e) ( ) $1,200
s S ) $1.200
P
1988 (1988.10.1~1989.9.31)
S
524,700 108,900 633,600
36,400 — (a)36,400 —
S 4,020 — (b) 4,020 —
565,120 108,900 40,420 633,600
386,100 79,000 (a)1,540 466,640
36,400 — (a)36,400 —
55,723 12,900 () 40 68,663
26,897 7,000 33,897
17,900 3,000 20,900
— - (c)1,400 1,400
523,020 101,900 2,980 36,400 591,500
42,100 7,000 43,400 36,400 42,100
(1988.10.1) 37,000 2,000 (b)2,000 37,000
79,100 9,000 45,400 36,400 79,100
9,500 1,500 (b)1.500 9,500
1989. 9. 31 69,600 7,500 45,400 37,900 69,000
11,756 7,400 19,156
( ) 17,660 6,200 23,860
S 1.200 - (e)1,200 B
78,940 8,600 (a)4.624 } 87,540
S 21,044 — (b)16,420 —
( ) 84,600 8,800 (a)1,460 94,860
- - (a)1,584 1,584
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215,200 31,000 3,044 99,244 227,000
) 15,600 7,300 22,900
- 1,200 (e)1,200 —
30,000 - 30,000
B B <b)3,100} 12500
(¢)1,400
100,000 15,000 (b)15,000 100,000
) 69,600 7,500 45,400 37,900 69,600
215,200 31.000 61,600 42,400 227,000
P S 1989.9. 31
$ 22,900
$19,156 30,000
( ) 23,860 $ 52,900
87,540 4,500
$130.556
( ) 94,860 $100,000
69,600
1,584 169,600
$ 227,000 $ 227,000
o ( 12),
s . ( )

s

(Exchange Gain or Loss),



638 (
) ( ) 42,200
, S ( ) ( )
) 63,600
. S ( ) $ 395,400
) ( ) 10,400
C 2] P 1986 6 1
(s ), 100%
P ) (
, : )
(1)1986.6.1¢( )
$0.30; )
(2)1988.12. 31( ) $0.24; . ;
(3)1988 (1988.1.1 12 31 ,
$0.25; ,
DOP 1988.12. 25 S 1988 )
, $0.26, . . .
$10,400,
$8,920 s
. P S ,
( ) ( ) $ 300,000
P S
( )1988 (1988.1.1—1988.12. 31)
P S
5,400,000 450,000 5,850,000
S 63,600 — (2)63,600 —
8,920 8,920
5,463,600 458,920 63,600 5,858,920




P S
4,110,000 342,500 4,452,500
519,380 35,600 554,980
130,200 12,780 142,980
21,720 4,440 26,160
4,781,300 395,320 5,176,620
682,300 63,600 63,600 602,300
1988.1.1 _
571,200 42,200 (a)42,200] 571,200
1,253,500 105,800 105,800 1,253,500
30,000 10,400 30,000
(¢)10,400
1,223,500 95,400 105,800 1,223,500
1988.12. 31 10,400
337,100 19,200 356,300
( 370,000 45,600 415,600
830,000 52,500 882,500
395,400 — _
S (a)395,400]
) 3,551,000 354,900 3,905,900
5,483,500 472,200 5,560,300
395,400
260,000 76,800 336,800
4,000,000 300,000 (a) 300000 10400 4,000,000
1,223,500 95,400 105,800 ’ 1,223,500
( 10,400
5,483,500 472,200 405,800 5,560,300
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N
’ ’
1 “ ”
( ) “ ”
s ’
’ ’
9
o :
”
’
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3
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s
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“ 2] “ ”
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XXX
XXX

X XX
XXX

X XX
XXX
XXX

XXX
X XX
XXX
XXX

XXX
X XX

XXX
X XX

XXX
XXX

XXX

)

XXX

KX X
XXX
XXX
XXX
X X X

XXX
XXX
XXX

XXX
KX X

XXX
X XX

XXX

KX X

XXX

X X X
KX X

XXX
XXX
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XX X
X X X : X X X
(= — ) X XX : XX X
XX X , s :
(= — ) XX X : XX X
X X X : - XX X
XX X
XX X : XX X
XX X s s
, : X X X
XX X
XX X XX X
XX X : XX X
X X X (1)
( ) XXX
XX X
( ) XX X N
XX X C 10.10. 17 s, NORWAY
XX X ,
NORWAY ( )
$ 12,000 $ 60,000
140,000 15,000
40,000 180,000
200,000 300,000
190,000 27,000
$ 582,000 $ 582,000
$139,000; 9,800
$ 38,200, $ 195,000, (= $200,000+ $190,000+ $40,000— $420,200)
$187,000; s : $ 40,000
$ 10,000, : 190,000
(1) : 200,000

: 2
$420,200(= $ 38,200+ $ 187,000+ $ 195,000) : $ 193,300



643

700(= $140,000— $139,300) $ 190,000
$ 140,000 2 .
(3) (3) o
(€] s
(a) $ 180,000 (a) $10,000
$ 180,000 $ 10,000
(b $ 15,000 (b) $93,700
$15,000 $93,700
(© $10,000 (5)
$ 10,000 $ 300,000
(d $60,000 $ 66,700
$ 60,000 233,300
4) s
(a) $10,000 .
$10,000 (5) . )
(b) $20,500 NORWAY $ 100,000
$ 20,500 $ 200,000, :
5 (a) $100,000
$ 300,000 $100,000
6,500 (b) $ 200,000
$ 306,500 $ 66,700
133,300
$ 37,000,
$ 150,000, N
€D )
$ 347,000 . .
83,000 .
$40,000 C 10.10. 2JNORWAY
$ 200,000
NORWAY (
$ 130,000 $ 220,000
250,000 380,000
320,000 600,000
2,000,000 3,000,000
6,000,000 $ 4,200,000
% 100 $5,000,000
500,000 $ 4,500,000

$ 8,700,000

$ 8,700,000




644 (
(D . $ 1,000,000, $1. $100,000
200,000, ( )s 3 $ 100,000
2 $100,000; : $100,000
(3) $100,000 ; [COI ( ) $5,000,000
4) $5,000,000  $4,600,000, $ 400,000
$ 50 $100 $ 50 )
; 4,600,000
(5) 6% $ 3,000,000, 30,000 (5) $ 3,000,000
. $ 100, . —6% $ 3,000,000
; (6) $ 120,000
(6) $ 120,000 $120,000
, ; ) $ 50,000
(" 1/2, 190,000
300,000
(1 $1,200,000 $ 540,000
$ 1,000,000
200,000 o
2 $100,000
$100,000 ,
$100,000 . .
NORWAY ( )
$ 690,000 $ 50,000
130,000 190,000
320,000 300,000
1,000,000 $ 540,000
6,000,000 — 6%
$ 100,
$ 3,000,000
$ 50, 7,600,000

$ 8,140,000

$ 4,600,000

$ 8,140,000

(2):
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646 (
(
)
(6 40,000
" 500 50,000
( (8 $ 125,000
. (€©D) 45,000
10) 10,000
. , an 5,000
a2 100,000
C 10.10. 3INORWAY (13) 1,500
. , (14) 1,500
. 1981 1 1 15) 40,000
1981 : (16) 19,500
@D $ 250,000 an 29,400
2 75,000 (18) 19,600
(3 $ 98,000 a9 3,000 399,500
€Y 15,000 20) $ 2,000
(5) 200,000
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21D . 1981 12 31
, . NORWAY ,
$7,500
(22>1981 $ 5,000
X . $7,
000, ;
¥ , $1,000 ;
RS : 5% 5%

10%

000,

600,

$10.0 00,
$3,000.
(NORWAY
. )s

)

$400;

20,000,

$27

$ 15,000,
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650

ol

10.“

1. “

12.“

240 260 1410000 1880000
666555 2490030 427700 535800

1780 48650 564000 910790
250000 260000 15950 69400
249100 564000 — —
2287650 1545075 112800 156698
352500 305500 940000 1645000




651

344275 352500 176250 391745
— 240000 250000
1712140 | 2184380 120000 120800
33570 29095 5915000 | 5209200
44760 38045 40000 39200
89530 112580 1230000 1240000
— 2350 650000 1110000
1325400 | 1379450 9870000 | 10105000
1015200 775500 95300 95300
4700 88000 342633
5875000 | 6345000 —
6674000 | 7050000 235000 114609
— 907100 1211190
453550 35250 11400 7900
1092750 | 1045750
470000 350150
658000 517000
2359600 | 25435265 2359600 | 25435265
668575 2538840 1410000 | 1880000
250000 260000 427700 535800
2287650 | 1545075 587500 353500
11400 7900 15950 69400
2276250 1537175
352500 305500 112800 156698
— 176250 391745
344275 352500 940000 1654000
4878600 | 5038400 120000 120800
— 4700 240000 250000
40000 39200
9019300 | 10591215 4634200 | 6028643
5875000 | 6345000 5875000 | 51700000




652 )
: 1230000 1240000
6674000 7050000 650000 1110000
907100 1211190
5766900 5838810 7755000 7520000
6220450 5874060 9870000 | 10105000
95300 95300
1092750 1045750 88000 3426225
47000 350150 235000 114695. 6
1562750 1395900 10288300 | 10657532
22677500 | 24206175 22677500 | 24206175
5 . “ ” s
. ( “ ”
. ) “ ” “
“ ”» “ ” . “ ” 6 . “ ” “ ”
1 . “ ” 7 . “ ”
“ ”
8 “ ”
2 . “ ” s
9 “ ” “ ”
1 O . “ ” s
3 . “ ” s R
1 1 . “ ” s s
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12. ¢ ” s s 14. ¢ ” s s
13. ¢ 7 s
199X 12
11644500 12055500
7990000 7886600
564000 587500
707350 728500
1234728 13399495
643900 705000
333700 378350
559300 488800
212000 296500
211000 300400
399500 343675
694478 964745
11892228 | 12302228 | 12903170 | 14051895

102
199X 12
R 1 11644500 12055500
2 7990000 7886600
3 564000 587500
4 707350 728500
. 7 2383150 2852900
9 590828 694495
10 333700 378350
11 559300 488800
. ( ‘7 ) 14 2080978 2680245
( . ) 15 212000 296500
16 — —
17 211000 300400
18 — —
: 20 399500
. ( ‘7 25 2104478
: 26 694478
. 30 1410000
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. 1987 11

(FASB) 95 (SFASNO.
95> 7, 1988 7 ,
. 1991 9

(ASB) 1

“ ” 10

o { )
{ D). 1992

)7
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))

(D

2

(3)

€Y

(D

2

(3)

D

(5)

(6)

(D
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(2

(O

)
(3

Q)

(2)

Q)
)

3

4

(%)

199 X

12

1 27

199X X

12055500

7886600

587500

728500

2852900

694495

378350
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488800
2680245
296500
300400
353675
2923470
964745
1858725
199X 12 31
668575 2538940 1410000 1880000
250000 260000 427700 535800
249100 564000 564000 587500
2287650 1545075 587500 352500
11400 7900 15950 6940
22762500 2537175
352500 305500 112800 156698
176250 3917459
344279 352500 940000 1645000
4878600 5038400 120000 120800
4700 240000 250000
40000 3920
9019300 10591215
58750000 6345000 58750000 5120000
: 1230000 1240000
66740000 7050000 650000 1110000
5766900 5838810 77550000 7520000
453550 35250
6220450 5874060 9870000 10105000
: 95300 95300
10927500 1045750 88000 342622




658 (
470000 350150 235000 114657532
1562750 | 1395900 10288300 10657532
22677500 24206175
e 117500
+ 344275
. — 342500
. . 119275
. : 5
+
( ) .
) — . .
+
12055500 .
+ 249100 -
2276250 + =
352500 =
— 564000 + ( )
1537175
587500 «C — +
12244675
(2
7886000
. 296500 + 4878600
(3 - 5038400
7727800
724500 + 427000
4 564000
305500
— 535800
587500
. 352500
. . 7548200

(6 o
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4
P) .

(

) s
+
€))

151290 .

2. o

(O

587500
378350
488800
45000
47000
350150
240000
112800
15950
470000
250000
156698
69400

728500
406100
287750
176250
396745
120000
1351055

2

3

o

105750
4

(6)

"

(D

o

235000
(2)

o

470000

o
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10000
3

s 470000
€Y

s 1142993
()

. 706000
(6)

N

19X X

12244675
296500
1203050
119275
13863500
7548200
1319452
1396055
306100

151290
10324997
3538503

23500
23500
105750
470000
575750
—552250

235000
10000
470000
715000
1142993
705000

1847993
—1132993

17105

1870365
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. 80 %
,
10725 7820 10000 5000
5000 2000 10000 3000
8000 3000 2000 5000
5000 4000 7000 2000
25 00 0 0
4975 3980 10000 1600
2000 1800 3000 1000
3100 20000 0 0
61700 38600 60000 17600
30000 4000 3000
17000 20000 4000
47000 2000 0
0 0
FA 30000 20000
: 9000 4000 26000 7000
FA 21000 16000
20000 5000
FA 0 0 0 0




664

FA 41000 21000
86000 24600
6300
0 40000 20000
6300 0 8000 4000
10000 5000
12000 6000
156000 596000 156000 59600
111600 80900
85000 62000
5000 3000
1600 1100
20000 14800
+ 2000 800
- 6000 4200
1000 600
15000 10800
+ 8000 200
1000 2500
- 2000 1500
+ 0 0
22000 12000
— 6000 4000
16000 8000
+ 8000 3000
24000 11000
— 2000 1000
10000 4000
0 0
12000 6000
111600 80900 192500 Eg;égggg
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(940000
85000 62000 147000 (8914000
5000 3000 8000
1600 1100 2700
20000 14800 34800 60000 54000
2000 80 2800
6000 4200 10200 (315
1000 600 1600
15000 10800 25800 60000 54015
(1076400
8400 200 8200 (771000
1000 2500 3500
2000 1500 3500
0 0 0
22000 12000 34000 67400 54015
6000 4000 10000
10
: 1600
16000 8000 24000 67400 54015 1600
(1053000
8000 3000 11000 (1213200
24000 11000 35000 73600 54015 1600
2000 1000 3000 | (11)800 | (10)1000
10000 4000 14000 (10)4000
0 0 0
(1)6000 | (10)6000
12000 6000 18000 74400 59015 :1600
10725 7820 18545
5000 2000 7000
8000 3000 11000 (4)4000
5000 4000 9000 (3)3000
25 20 45 (3)15
4975 3980 8955 15 3000
2000 1800 3800 (5)1000
31000 20000 51000 (8)6000
30000 3000 (1)30000
17000 17000 (6)2000
(1)2000
30000 20000 50000 (7)1000
9000 4000 13000
20000 5000 25000




666 (
6300 0 6300
0 0 0
156000 59600 | 215600 | 2015 47000
10000 5000 15000
10000 3000 13000 | (4)4000
20000 5000 25000 | (2)3000
7000 2000 9000 | (5)1000
10000 1600 11600
3000 1000 4000
0 0 0
4000 3000 7000
20000 4000 24000 | (62000
20000 0 2000
86000 24600 | 110600 | 10000
40000 20000 60000 | (120000
8000 4000 12000 | (1)4000 | (11)800
10000 5000 15000 | (1)5000 | (12)3200
12000 6000 18000 | 80400 65015 :1600
[@D)
27000
156000 59600 | 215600 | 119400 69015 5400
121415 | 116015 :5400
2. 70000000
. 2) 5000 3000
3. , :
. 30000000
4. , . 30000000
. , 3) 3000
. 15 .
D 30% , 150000
35000 , 280000 150000
s 30000 , 4) 8000 4000
2000 . , :
20000000 40000000
40000000 40000000
50000000 5) 200 100
60000000 ’ :
20000000 10000000
300000000 10000000

6)
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2000 . : 1000 , 4000 .
20000000 6000 .
20000000
7) 5000 . 64000000
4000 , 16000000
30000000
10000000
10000000 40000000
: 10000000 60000000
8) 20000 1) 4000 .
. 30% ., 800 .
. 6000 8000000
. 8000000
2000000 12) 4000
140000000 3200 .
60000000
9 40000 3200000
. . 3200000
5. .
400000000 .
400000000 6. .
10)
8000 . 6400 . ,
. 1600 . .
3000 .
s XX X199X X X
18545 15000
7000 9000
7000 22000
6000 8000
30 0
5970 11600
2800 4000
0 0
45000 69600
0
86315
1700 7000
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2000

22000

FA:FA

49000

2000

13000

0

FA

36000

31000

2500

10600

FA

0

0

FA

61000

7000

6300

0

40000

170615

8000

14000

1015

63015

170615

132500

93000

8000

2700

28800

2800

10185

1600

19185

1800

2500

3500

0

20615

10000

1600

9015
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9015

4800

13815

2800

10000

1015
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, : Ro=Ro+Re;+ (Ros+Rop)
1. Ro— ( )
Ry ——
Ro:—— (
. o . )
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. Roy——
o (Ro; +Ro)——
s ( )
. (Roi+Rgx) — (
)
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; (Ros +Rop) s
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( ), s .



(O

.’ ( ’
’ Y ) (
).
. 1. (NPV )
, NPV= Zo‘ (1+RRR)‘ Z’ (1+RRR)‘ -1
100%% 2. (PI )
Z (1+RRR)‘
pr— R
3. (IRR )
° S At
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C 1,
Pl IRR (
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s ( )
s CBD(
s ( ) o
1 Dun&.Bradsteet
)
5A $ 50,000,000 1 2 3 4
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